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Learn Korean Ep. 4: “To be” and “To exist”

Of course "to be” and "to exist” are different verbs, but they're often confused by beginning
students when learning Korean. In English we sometimes use the verb “to be” to mean “to
exist,” such as in the sentence “there is a book on the table.” The “is” in that sentence
comes from the verb “to be,” but we understand it to mean “there exists” when we read it.
In Korean, "to be” (“O|C}") and “to exist” ("RULC}") are two separate verbs entirely, so it's
important to know when we're referring to something "being” (equaling something else) or

“existing.”

In this lesson we'll go over the differences between “O|LC}" “to be,” and “OfL|LC}" “to not be.”

"non

We'll also cover "QILCt," "to exist,” as well as its opposite, “QICt," "to not exist.”

O|C} “to be”
OIL|C} “to not be”

"O|CH" means “to be,” but you can also think of it as meaning “to be equal to.” If you
wanted to say “That is a cat,” you would use "O|C}" because what you are really saying is

“That is equal to a cat.”

42 1ol L.

“That is a cat.”

N Ol= AtEolo .

“I am an American.”

N F2 stk

=
III

Q

a good student.”

When using “O|C}," it attaches directly to the word it comes after, as you can see in the

example sentences above.
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"OFL|C}" means “to not be,” and is therefore the opposite of “"O|C}t.” While English simply
turns words like “"to be” or “to exist” negative by adding “not,” Korean sometimes has
separate words for them, as you'll see again when we go over "QIC}" and "8I LC}." Because

"OFL|C}" is the opposite of “O|C}," you can also think of it meaning “to not be equal to.”

A2 A¥0|7} otLo L.

“That is not a cat.”

When using "OfL|C}," the subject marker (0| when followed by a consonant, and 7} when
followed by a vowel) comes after the noun you are describing (the subject marker may be

left off in casual speech). “O|Ct,” however, does not use the subject marker.

't Ht &= OfL|OF!
‘I am not stupid!”

"t is an abbreviation of “L{=." This sentence would be for casual situations only.

M= Ol= ALEo] ofLofl 8.

“I am not an American.”

When using “OtL|C}," there will be a space between itself and the word it comes after, as

you can see in the example sentences above.

Common conjugations for “O|C}” and “O}L|LC}”

“o|C}”
o QL|C} (more polite)
o QL|Nf? (more polite — as a question)
e 00|82 (polite — when following a consonant)
e 02 (polite — when following a vowel)
e O0|Of (casual — when following a consonant)
e Of (casual — when following a vowel)
“oL|C}”
o OfulL|C} (more polite)
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o OfYL|7}? (more polite — as a question)
o oOfLolg  (polite)
e OfL|Of (casual)

Note that while “O|C}" has different conjugations depending on whether it follows a

consonant or a vowel, “OfL|C}” does not.

OIC} “to exist”

2IC} “to not exist”
Just as "O|C}" and "OfL|Ct" are opposites, "Lt and "GiCH" are also opposites.

Because "QIC}" means "to exist,” it is commonly used to mean “to have,” as in "I have

money.” "QIC}" is also commonly used to mean “to not have,” as in "I do not have money.”

When using either of these, it's most common to use the subject marker after what it is that
you're saying exists or doesn't exist. It is also fine to use the topic marker (2 after a
consonant and & after a vowel), though this usage is less common and has a slightly
different meaning; I go over the differences between the subject marker and the topic
marker in Episode 9, but for the time being just use the subject marker with “Q!C}” and

u gi EI'."

M= =0| ol Aoja.

‘I have a lot of money.”

This seems to mean “As for me, there is a lot of money,” though because "QIC}" and “giC}"
can mean "to have,” this sentence would better translate to “I have a lot of money.”

"Br0|" is an adverb that means “a lot (of).” An example would be the sentence, "Ef0|

HAQ!" — "I ate a lot!”

M= =0| #o| glofe.

"I do not have a lot of money.”

7| 1go[7t 2ol L.
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“There is a cat there.”

"

X 7| means “there,” as in “over there.

A= otuof Act.
“He is at school.”

Although we're saying “is” in this sentence, what we mean is “exists,” so "QULC}" is used in
this sentence and not "O|C}L." If we were to write this sentence using “O|LC}," it would mean
something like this: “"He is equal to at school.” Even if we remove "at” from that sentence, it
is still incorrect.

"0 is a marker that shows where something or someone exists at. It is also used to mean
to, as in "to a location” (e.g. "I go to school.”) I'll go over this marker more in a later lesson.
Q& stmoj gict

“He is not at school.”

You can also think of this sentence as meaning “He does not exist at school.”

TR 20| $lLIE gloja.

"I don't have even one clean article of clothing.”
"TLSICH means “to be clean.”

"2" means “an article of clothing,” or just “clothes.”

"SELFE" means “even one,” since “SFLE means “one” and “E" means “even” or “also.”

L= F[0f AlR0] doja.
“T have a test after a week.”

"OE'—’F— I” means "a week” or “one week.”
"&|" means “after,” and is also used after the word you're referring to.

A& means “a test.”

d= gy stuof A= AHE ool ].

“He is a person who is always at school.”

Note that this sentence uses both “QIC}" and “O|C}.”
"at A" is an adverb that means “always.”

"U="is just "RULC}" changed into a different form so it can be used to describe something

or someone. Here, it's describing “a person” (“A}&t"). Changing verbs like this to describe
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other people and things is more of an advanced topic, and I'll go over it later in another

lesson.
Common conjugations for “QIC}” and “giC}H”

IIQAIErl’

o AsHLCH (more polite — as a statement)

o QAZLIN? (more polite — as a question)

e 02 (polite)

e Q0 (casual)
"éﬂAE}”

o Sl&ULCH (more polite — as a statement)

o SUASLIIN? (more polite — as a question)
e Sl0jQ (polite)

e Q] (casual)

Well, that's all for this lesson. Practice by making your own sentences using what we've
gone over today. I hope this lesson could be useful in helping you to achieve your goals for

learning the Korean language.
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